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12) Convert fractions
to decimals and
decimals to reduced
fractions.
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13) Use short division. Leave your
answer as a mixed number:
56083+6

G 56093

14) Use long division and leave your

answer as an exact decimal (perhaps

repeating).
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Measurement Test Name:
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39cm=_().29m
gl 46 o
4.9¢= 1900 me

21b=_32 oz

630cm =22 6 ':13n
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900mg = 0-9009 kg
hyd=_ [0S f
0.79mm=_090%] cm
400 fl.oz. = ﬂ%,_ qt
0.05km=_50 m

1% ton = 4%5000 (6Y4
0.62me= (-00067 ¢
100mi= 529000 #

49m = %4,000 mm

2
6 pt= q gal

19)
20)

21)

22)

1.43km = )/ 430,000 mm

5% c= L'l (0 fl.oz.

A rope is 7.4m long. If you cut off
25cm from each end, and then divide
the remainder into ten equal segments,
how long (in cm) is each of the
resulting segments?
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A wooden box weighs 2.7kg when
empty. How much does it weigh (in
kg) if it is filled with 2000 marbles
each weighing 800mg?
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Ratios, Part I — Test

1) Given that the ratio of
boys to girls in a school is
4t05... Bié=>YH.¢
a) What are the three

thoughts associated with
this ratio? Write each
thought only as an
equation.

0

n\F

G
%
&

1t

B
G
S

£ W

B-=

b) How many girls are
there if there are 360

boys?
uso

¢) How many of each are
there if there are 360 boys
and girls combined?
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2) Find X given that the
two triangles are similar:
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3) A recipe for salad
dressing calls for 10 fl.oz. of
oil and 1% fl. oz. of vinegar.

a) What is the ratio of oil to
vinegar in whole number

form?
O:V= 203

b) What is the ratio of oil to
vinegar in decimal form?

OV = 65]

c) If the recipe is to be
enlarged, how much oil is
needed for 6 fl. oz. of

vinegar?

Y0 ¢l oz,

4) Give the reciprocal of
each ratio.

a) :G=94
Gt3=4.4
b)BC=551 ~ €%:10
: — [4=55
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5) Convert this ratio to 8) Write the four ways to 9) Challenge!

decimal form: express the ratio of this (Do only if you have
1:G=94 rectangle’s dimensions: extra time.)
S ? What is the ratio of the
J.e=2.%.| o weights (in whole
24m form) of Bob to Fred
to Hank if Bob weighs
45kg and Fred weighs
R4y Slagotng 135 Ibs. and Hank
weighs 18 stone?
HiRS §.1L (Hint: 1kg~2.2 Ibs.

6) Convert this ratio to and 1 stone = 14 Ibs.)
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7) What can be said
about any two similar
figures?
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Percents — 1 €St Name: i brade
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Do the problems in this column
in your head, if you can.

1) Convert to a percent:
a) o 99,

D% 3737
C) /50 26 70

d) 081 9)%,

2) Convert to a fraction:
5% = E
2) S N 20
By - - F
100

3) Convert to a decimal:
a) 3% 0.03
b) 53% (.053

4) Whatis...
a) 20% of 557 1l

b) 1% of 5240? 52.4Y
c) 200% of 35? 70

: ) . 300
d) 5% of300? 5, * @

e) 62%% of 320?"0
ke @
42!

5) a) 12 is what % of 120?

j20 10

b) 700 is what % of 21007

e 5 23%

6) Show your work for these
problems. (When dividing, leave
your answer rounded to three
significant digits.)

a) What is 42% of 30? 3

H2%30

b) What is 5.03% of $2000?
0.0503 2000
same &8 S0,53 % 2
100.G

¢) 240 is what percent of 300?

300 ¥

d) 120 is 25% of what number?



7) Increase/Decrease Problems
a) What is 3000 increased by 7%?

t% .+ 210

3000+200> ( 9210

b) What is 60 decreased by 40%?
Hoh 2 &

L0-2Y —

¢) Going from 40 up to 64 is what
percent increase?

=0 = 2V
T

d) 64 down to 40 is what percent
decrease?

8) Word Problems

a) What is John required to pay for a
pair of shoes marked at $42 if
there is a 8% sales tax?

Y20 Bty 30

33e+92v<3?f£i;>

b) An item originally marked at $144
is now offered at a discounted
price of $108. What percent
discount is that?

[H4-10% = 3¢

36 : :
Wﬁge ZS%

¢) Do this problem last.
Debbie put $400 into an account
that earns 5% annually. What is
the balance of the account after
three years?




Percents — Test Name: 7- Grade Ve ( Te {'/)/

Do the problems in this column
in your head, if you can. (Don't
spend much time on them.)

1) Convert to a percent:

he B
0 0,

c) % ek '1‘3 070
&) 357,
S0 23l
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2) Convert to a fraction:
a) 90% 9//0

b) 7% z-
87%4% 2
c) 270 17-/%

3) Convert to a decimal:

a) 86% 0%
b) 2% O.0%

4) Whatis...
a) 10% of 8002 % 0

b) 1% o0f534? G.2Y
c) 50%o0f18? 9

d) 700% of 112 77
e) 20% of 45?2 9

f) 83%%of42? 3§

5) a)6is what% of48? 12 Ai”h
. 9 \’
b) 7 is what % of 217 373 070

c¢) 16 is what % of 20?

80 %,

Show your work for these
problems:

Calculate each one in order to get an
exact answer. When dividing, leave
your answer rounded to three significant
digits.

6) What is 14% of 9007

| L0

7) 90 is what percent of 120?

&%,

8) 115 is what percent of 2007

S22 %




9) What is 45 increased by 60%?

Tz

10) 416 is what percent less than 640?

35%

11) A pair of boots were originally $75.

What would be the price after a
15% discount?

65 75

12) What is the tax rate if you had to
pay $88.20 for a meal that was $84
before tax?

5%

13) If an account increases by 3% per
year, what would be the balance
after two years if the initial
investment is $800?
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Algebra Test Name:
Simplify.

1) -3+8

2 213 =0

3). <4 =11 g o

4) -20+5 -1

5) —-6-7+30 \'.F.
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13) 6X+5

14) —4X = 33X+
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Solving Equations
Be sure to show what is done to each side
with each step.

16) 4X =32
Ly 4y

I,

17) X+10=2

et el

18) X-3=5
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19) S X=-10-5
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Solve each equation. Once again, be
sure to show all of the steps.

20) 6X+3=2X-9
=~ ~2X%

UK +3 = -9
\3 -3

21) 5X-3+X=6+14X-11
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22) Challenge! (Do only if you have
extra time.)
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